Name Date

1. Divide, and then check using multiplication.

a. 2,464 +4 b. 1,848 +3
c. 9426+3 d. 6,587+2
e. 5445+3 f. 5,425+2

(cc) BY_-NC-SA This work is licensed under a
© 2014 Common Core, Inc. Some rights reserved. commoncore.org Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




g. 8,467 +3 h. 8,456+3

i. 4,937=+4 j- 6,173+5

2. Atruck has 4 crates of apples. Each crate has an equal number of apples. Altogether, the truck is carrying
1,728 apples. How many apples are in 3 crates?
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Answer Key

1. a. 616
b. 616
c. 3,142
d. 3,293R1
e. 1,815
f. 2,712R1
g. 2,822R1
h. 2,818 R2
i. 1,234R1
j. 1,234R3

2. 1,296 apples
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